
Jerry Greer's Engineering - 1940 Chief - Shocks - Rear

Ref Part # Qty Description Price

Page 1               Created On: 03/28/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Shocks - Rear

Ref Part # Qty Description Price

1 86335 1 SHOCK ABSORBER, LH, sold used, as-is $275.00

2 86334 1 SHOCK ABSORBER, RH currently
unavailable

3 42596 1 SHOCK ABSORBER SPRING, upper, rebound $40.00

4 42483 2 SHOCK ABSORBER ROD, sold used, as-is, NOTE: 1940~45 and 1946~53 shock rods and springs can not be safely
intermixed

$50.00

5 42597 1 SHOCK ABSORBER SPRING, lower, compression currently
unavailable

6 42491 2 RING, retaining, for spring retaining nut $5.25

7 42595 2 NUT, 1-7/8"-24, special, spring retaining $40.00

8 42488 4 BUSHING, rear shock absorber, upper and lower $10.00

9 JG-2503 1 SHOCK ABSORBER COVERS, both shocks; Chrome Plated $130.00

10 922012 4 WASHER, 5/8'' Split Lock; Cad Plated $1.00

11 45072 4 SHOCK ABSORBER END BOLT, 5/8''-24 .827''(Hex) $15.00

12 416002 2 GREASE FITTING, 5/16''-32 X .25'', straight; Cad Plated $3.50

13 417015 2 CUP, rear shock absorber; Cad Plated $35.00

14 40701 2 GREASE FITTING, 5/16''-32 X .22''; angled; Cad Plated $5.75

15 207125 2 BOLT, 5/16''-24 X 2.500''(Hex) $4.50

16 922007 2 WASHER, 5/16'' Split Lock; Cad Plated $0.75

17 606010 2 NUT, 5/16''-24(Hex); Cad Plated $1.25

18 45073 2 SET SCREW, #10-32 X .375''(Slotted Cup Point), bracket cover $0.75

Page 2               Created On: 03/28/2024 - Copyright 2024 Jerry Greer's Engineering


